Answer all questions and show work

	1.
	Find the slope.

The line that passes through points (2, 1) and (4, 6).


	2.
	Find the slope.

2x + y = 4


	3.
	Find a general equation for the line having the given properties.

Slope = 4; containing (3, 4)


	4.
	Without solving, determine whether the lines below are perpendicular or parallel.
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	5.
	A manufacturer produces items at a daily cost of $1.25 per item and sells them for $2 per item.  The daily operational overhead is $450.  What is the break-even point?


	6.
	Write the augmented matrix of 

3x + y = 4         x – 3y = 8

Do not solve.


	7.
	Perform the row operation R2 = (2)r1 + r2 on the matrix
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	8.
	Write the solution of the following matrix.
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	9.
	What is the dimension of the matrix shown below?
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	10.
	Find:  
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	11.
	a. If A is a matrix of dimension 2 × 3 and B is a matrix of dimension 3 × 5, is AB 
defined?  

b. If so, what is its dimension?  

c. Is BA defined?  

d. If so, what is its dimension?
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